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K 4 i 0m® | 70m®@ BAa Ey b 10 X
1 |3-B|RCW|XIE HE FES 298 315 613 12 16 1
2 [3-C|RCW|%E E4zx |E®EX 293 299 592 12 11 4
3[1-B|RCW|EH 7wAIEF |(FES 295 292 587 1A 16 1
4 [2-D|ROW|EW =BF |REX 288 293 581 12 12 5
511-C|RCW| kL ®& RKIKE 291 288 579 12 9 4
6 |2-A|RCW[iE#E #HDoOE |KIKXKS 216 299 575 12 8 3
7 |1-A|RCW (B HF FES 284 262 546 1A 9 2
8 | 1-D[RCW|ILA HIRF |#LFEX 264 268 532 1A Ji 1
9 |2-B[RCW|=H Hi& ) 241 285 526 12 Ji 0
10|2-C|RCW|EER HEF EN= 267 253 520 12 2 0
1M[3-A[RCW[:EAX BHE FES 244 183 421 66 1 0
LKYHh—TEBF>

K 4 i 70m®D | 70m® TR Eyh 10 X
1 |4-A|RCM|EZH AE [EHX 320 321 641 12 23 3
2 |6-A|RCM|PFEE #F0k NN 319 321 640 12 21 6
3 | 5-A[RCM @K Fnic AKIXK 320 315 635 12 17 2
4 |5-C|RCM|FH ==TF ITEE K 305 319 624 12 20 6
5 |6-D(RCM|FII] FH— N 298 316 614 12 15 1
6 | 6-C| RCM | &t {E— TITh 300 310 610 12 13 5
7 |4-B|RCM | % FES 300 297 597 12 10 1
8 |5-B|RCM|1E R &R FES 280 291 571 12 8 2
9 |5-D|RCM|TFIJII EA RKIKE 261 262 523 A 4 2
10| 6-B|RCM |1 &g RKIKE 251 238 489 A 3 0
11|4-C|{RCM[LLT 8% RKIKE 206 255 461 69 6 1




